BSc Sem 3 Physics 202 Question Bank
(1) Ycllatclot dotcl ol AsH cull.  RLlaR yld Hler)

(R) AR 1§ of YA Al  (F = q[E + (v x B)]

(3) Rl Ud2otl AHEAI of YA AWl (Vg = d—Wdl)

(¥) R0l UF2 HIE URW AL of Yo AWl (Vp = ﬂk)

(W) 8Asdotoll 22 e (MR = (9.1x10% oum)

(s) Tx dl Bect Rt 2uivis U2 B Rectt Judla A A lld cddlq W= (dF = dl X B )
(V) RARYusc M2 V-B=____ (0)

(¢) BRYolscl HE VXB =py_ (J)

(¢) ArflAR ol (AuH Y $B-dl = ___ (ugl)

(0) [E-dlal ___ 588 ([Qgc wcsun)

(1) [B-dlal __ 538 (Jusla udsun)

(12) WAL Noa@s uetall  Juscl wrd 8. (stal)

(13) uelallott URHIE 3 wWllal staHl faslal asHol Sl el (stauRoaAlRs)

(1¥) ARA AR5 UeLd of As ol AVl (AR|ARaN)

(15) stal N5 UELed of WS ol AVl (o], UEL, diog, well, @me)

(16) B clurial Ueld 3ANARsHiell NANFRS Ui 3clleS 22 B A dluMlolal 53 dlUMlel 58 8. (53| dAlUHlot)

(19) UELotl AsH 5E €ls YR Yoldlal USHA A 9 58 B. (NoA2ASI2et)

(1¢) stal NoaRs uetel ofl Yousla AWRGGlldl of et S 8. (»Q)

(1¢) sal Ueledlell wfauellcldl »at da . (QpANARS)

(20) sl ueldloll uREAGNAR of Heat ugl ALY sla B, (3ANFRS)

(1) olESQget clyy _ UEld B, (SlUNXRS)

(22) Aot aly el B, (ARAN=Rs)

(23 ) AUl 5006l oUldoll (Baual ciet Act AsH g0 Hill AsH UHAML UAUR AUl 5006l vl o
56 8.  (RAUULA $EUSU & WUl Uotcl)

(%) ULl oA ol (Bau A YBRA s8lell ol ol Rau ctAstl vRua 58 B. (uslalatsial)

(RU) Nge{lacd yslelet WISDE of URHIGL 53 D. oler®)

(25) Uslalototl YoM ULASRL Ul Al ama 23lzell Bl dol vidR 8l oUd 52 B. Ax 9 58
(Rl YlUA)

(29) 58 yslolet Yot Yslelet 1oUGH{l Yslolet UHAL sB0{l ¢t oUAGST Aroll yslelot udloll sct aUlAGast
Bl sla B,  (RA(QRUUSs UslElet)

(R¢) 58 yslalet Yot Yslalet AoUG{l yslolet wiHdl s006{l et aUAGAT Axell yslelet siteoll sct Gst Bedl
Al aell. (RURAQRaUuUs yslolet)

(R¢) 58 Yslolat Ul 5t oUAB o] dRetel A 8. (RA(Aewus yslolet)

(30) 58 yslelot ueallHi st oUAGe] dRatel aud atell. (RARA(AReUs yslolet)



(39) 56 (Bl Hi YEAU RAseUTL B5UL RJ2let HIs2R wclatl YRl gl Yslelel WA B, (Hs2et YlBAH)
(32) AU AseUTL Hs2at UlsauHi sl $B0 ARL Acll YHIRML oA Gt oprtel el ud 8. (y2let 3
»sUl oj2lot)

(33) uslalotoll Yeatimi uucdsel adlesyoll ANSML Ve o IR Slad @UIR WULASELo] SIQ yslolet aa 8.
(Yot)

(3%) wRA(Araus Yslelotui dilAH dUAG Yl(es 2UAGA sl dl? Slal AL Al 53 8. (Gi&us)

(35) Al RA(ARUUS YswHL iAH oA Gt wi2(els ald Gl sl A9l dlad B AR vitell woaul 53 8. (Gxsiallns)

(35) 818 %3lcd wldd (AR a sine U cosine Us ML Qe sclell suBdla ylsaua 9 53 .

(ellAs AiARN)

(39) vl [@ABA @(x) Wl vleld L 8la Al A (1) As Hed 8l (R) URMA 8lat (3) dal As AlalcdHi
URM A vl wllded 8l Al dal UWRAA Avadl 1ol 3ol ojeictll dlad dal ol ARAl 58 B.
SlRsAzell 21Rd)

(3¢) 58 AQNML sine WA\ cosine [ARAAL{l wig@B As Yaod wigReil Yalils oais 30 sla 8. (sRaR AQl)

(3¢) NMR o Y3 ol curll. (o5A2R DXRS :olo)

(¥0) scAHl B BcdR Ul sQUHI wsul 5O wWesl st & (AeA ¥ selloll vl AUl 5806{l Avul 5L Astl
ool B) A SIS A 9 58 V. (AURALA U@ ¥ ARRAA 30%)

(¥9) ol o sQ0 scauml Ycll ay nstes stdlal wesl e B, (estadl @ 33| xsiefall Yell el el fla B)
Ul duuea 9 58 8. (RoUADL streggling)

(¥) acloll acaAMi sBoll Hdlell B}sH calleS €ls oHIAA Gl sRLall oll Rl YHIRHL 8l 8. (Adl)
(¥%) 518 acauHl (ABRQ AsH AR €ls oAl Gxial acausll 58 8. (oL ulaR)
(¥U) A sAs Aol <A sB SINAL ARAA VAR A 53 8. (ARAA HY5cAua)

(¥5) 8As2lotoll oA Gosl ol AsH VL. (Mev, (At BASAlAC, Bev, [A(A2A BASRANCR, ev BASRAACR)
(¥9) proportional 51Go2? oll Rgid cvll. (ve(ls0Q)

(¥¢) proportional $1Ge2 M1 ALMleA A Fcl cly) GRAHL WA B, (BHELY)

(49) AR 51Goe oll Rglct AVl (BAGES (S

(40) scintillation counter ol Rgict @WL. (scintillation, Ur§0L)

(Uq) Atlales (32522 A _ cllAlMMl AVG PN 520t 8. (Rad)

(UR) UMl (3201 anlue 2URHl MRl Heclo] U WY[Els AlUat 53, (Sliuzel AYRS s AuM (3252R)
(U3)5ALBS 1R oll Rgid Avll. (Rua(s201)

(W¥) US AR ol Rgict cvll, RUS ¥ Bu)

(MUW)1 Mev = _____ev (106) (US)1Bev = ____ ev (109)

(WO) _ yaols 2t [Agdydusla YRel ad yaoal Beuat sclatl Rgid U UG B. (ollatdlet)
(U¢) NMR oll Gualal Arll. (lletoll Youslal ALsHIstle] HiUat $R4,)

(ue) % A 58 8. (Slge{lact yslolet usde)
(50) %l $(-x) = -x 8l dl A (ARaa (@B 313 oA &, (ASl)

(59) % $(-x) = x 8l Al A (AR @B 33 Qo 8. (Asl)



